
CHEMISTRY

BOOKS - MBD CHEMISTRY (ODIA ENGLISH)

REDOX REACTIONS

Question Bank

1. What is the oxidation number of nitogen in nitrous oxide.

Watch Video Solution

2. What is the oxidation number of Mn in  ?

Watch Video Solution

K2MnO4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GweUZ7R2DfOA
https://dl.doubtnut.com/l/_XUwy0gsWxP6h


3. Calculate the weight of NaOH required to neutralise 25mL of

?

Watch Video Solution

1MH2SO4

4. What is the oxidation number of chromium in  and nitrogen

in  ?

Watch Video Solution

K2Cr2O7

N2H4

5. What is the equivalent mass of  ?

Watch Video Solution

Na2CO3

6. What is the oxidation number of  ?

Watch Video Solution

Mn ∈ KMnO4

https://dl.doubtnut.com/l/_YDu57zfp2lDZ
https://dl.doubtnut.com/l/_TygWwhAooAtc
https://dl.doubtnut.com/l/_qfr76U0mVVFf
https://dl.doubtnut.com/l/_xoZARPzbMvvk
https://dl.doubtnut.com/l/_EHRANXETrot1


7. Is Hydrogen iodide an oxidising agent or a reducing agent.

Watch Video Solution

8. Write down the equation that will show the relationship between

normality and molarity.

Watch Video Solution

9. Name a compound where chlorine exhibits oxidation number equal to

 ?

A. hcl

B. 

C. 

D. 

Answer:

+7

https://dl.doubtnut.com/l/_EHRANXETrot1
https://dl.doubtnut.com/l/_8vyOWBoPcvCA
https://dl.doubtnut.com/l/_bKMOBERC0B63


Watch Video Solution

10. The molecular mass of sodium carbonate is 106. What is its equivalent

mass ?

Watch Video Solution

11. What is the oxidation number of hydrogen in sodium hydride?

Watch Video Solution

12. What is the oxidation number of Cr in ?

Watch Video Solution

k2Cr2O4

13. Which halogen shows only one oxidation number in its compounds ?

Watch Video Solution

https://dl.doubtnut.com/l/_bKMOBERC0B63
https://dl.doubtnut.com/l/_mHc9BHAuZcsx
https://dl.doubtnut.com/l/_K0ehfOZhul1s
https://dl.doubtnut.com/l/_BQiIF6CR4Rcc
https://dl.doubtnut.com/l/_J5mom3pG2BVD


14. What is the oxidation number of N in  ?

Watch Video Solution

AgNO3

15. What is the oxidation number of Cr in  ?

Watch Video Solution

K2Cr2O7

16. Balance the equation 

Watch Video Solution

MnO
− +
4 H + + Fe2 → Mn2 + H2O + Fe3 ^ +

17. What is the equivalent mass of sodium carbonate ?

Watch Video Solution

https://dl.doubtnut.com/l/_J5mom3pG2BVD
https://dl.doubtnut.com/l/_A4sFR8wq2OXt
https://dl.doubtnut.com/l/_7esoX8EfNv8T
https://dl.doubtnut.com/l/_gP1iN9j2ZAqR
https://dl.doubtnut.com/l/_G6DkTGC8gecq
https://dl.doubtnut.com/l/_GRkpXs9hllS2


18. What is the oxidation numbe of N in  ?

Watch Video Solution

N2H4

19. Fill up the gap in the following equation,

Watch Video Solution

MnO
− +
4 8H + − → Mn2 + + 4H2O

20. What is the oxidation number of Mn in potassium parmganate ?

Watch Video Solution

21. What is the change in the oxidation number of the marked element in

the following.

(i)  


(ii)

W t h Vid S l ti

K2CrO4 → K2Cr2O7

Na2SO3 → Na2SO4

https://dl.doubtnut.com/l/_GRkpXs9hllS2
https://dl.doubtnut.com/l/_o6tO7DTQUXK8
https://dl.doubtnut.com/l/_SxoasB6LmlVZ
https://dl.doubtnut.com/l/_enbN08UnAdIf


Watch Video Solution

22. "Oxidation takes plaace at the anode during electrolysis." Justify the

statement with an example.

Watch Video Solution

23. Write ionic equation for the reaction between potassium

permanganate and stannous chloride.

Watch Video Solution

24. What is oxidation number ?

Watch Video Solution

25. Balance the equation 

Cr2 O72 − + I − + H + → Cr3 + + I2 + H2 O

https://dl.doubtnut.com/l/_enbN08UnAdIf
https://dl.doubtnut.com/l/_qaf0W9MPAcBl
https://dl.doubtnut.com/l/_VvBo0MfheSgj
https://dl.doubtnut.com/l/_5dYp7kOXSvoA
https://dl.doubtnut.com/l/_LDm1YjnoN5r2


Watch Video Solution

26. Balance the equation be ion-electron method :

Watch Video Solution

Fe3 + + Sn2 → Fe2 + + Sn4 +

27. Balance the equation: 

Watch Video Solution

MnO
− +
4 H + + Cl → Mn1 + + Cl2 + H2O

28. Balance the equation : 

Watch Video Solution

Cr2O
2 −
7 + Cl− +H + − − − → Cr3 ^ + Cl2 + H2O

https://dl.doubtnut.com/l/_LDm1YjnoN5r2
https://dl.doubtnut.com/l/_5xiglg0vDYuy
https://dl.doubtnut.com/l/_yRJVdLiFBBIr
https://dl.doubtnut.com/l/_c2mPPue385d1


29. Balance the equation : 

Watch Video Solution

Cr3O
2 −
7 + H + + I − →Cr3 + I2 + H2O

30. In the following equation what is the change in the oxidation number

of manganese ? 

Watch Video Solution

2MnO
−
4 + 16H + + 5C2O

2 −
4 → 2Mn2 + + 8H2O + 10CO2

31. Which one of the following is a conductor in the solid state ? 

( a ) sodium chloride 

(b) diamond 

( c) graphite 

(d) sulphur

Watch Video Solution

https://dl.doubtnut.com/l/_ECVMDcOfSNAK
https://dl.doubtnut.com/l/_X8doDGoH8nOs
https://dl.doubtnut.com/l/_uB6nUUTkn9lk


32. Complete and balance the following equation :

Watch Video Solution

S2O
2 −
3 + I2 → S4O

2 −
6 + I −

33. Write a baanced chemical equation in the reaction of  with

acidified  solution.

Watch Video Solution

H2O2

KMnO4

34. Define and illustrate equivalent mass of an acid.

Watch Video Solution

35. Balance the equation :

Watch Video Solution

Cr2O
2 −
7 + H + + S2 → Cr3 + S + H2O

https://dl.doubtnut.com/l/_3DGJYgx7OJag
https://dl.doubtnut.com/l/_4MSKk3VCIyra
https://dl.doubtnut.com/l/_TYanNp7ScWm0
https://dl.doubtnut.com/l/_UTwqBICClg0K


36. What is the sum of the oxidation number of all the atoms in a neutral

molecule ?

Watch Video Solution

37. Balacne the equation by ion-e,ectrpm method: 

Watch Video Solution

Cr2O
2 −
7 + SO2 → Cr3 + + SO42 −

38. Give two examples of oxidation-reduction reaction.

Watch Video Solution

39. What is the maximum oxidation state that nitrogen can have ?

A. +3

https://dl.doubtnut.com/l/_UTwqBICClg0K
https://dl.doubtnut.com/l/_h1Hn7Pgyg05n
https://dl.doubtnut.com/l/_p7Nltn2rGn5n
https://dl.doubtnut.com/l/_67L0llN8hHOH
https://dl.doubtnut.com/l/_ahofCNMoGTPo


B. 

C. 

D. 

Answer: C

Watch Video Solution

+3

+5

+8

40. 5.3g of  added to 100 cc of . The final solution is :

A. acidic

B. alkaline

C. neutral

D. basic

Answer: B

Watch Video Solution

Na2CO3 1NH2SO4

https://dl.doubtnut.com/l/_ahofCNMoGTPo
https://dl.doubtnut.com/l/_m4LBVLm4uSaz
https://dl.doubtnut.com/l/_q2MFupOUyWk4


41. The volume of 0.1 M  required to neutralise 30 ml of 2.0 M

NaOH is :

A. 10mL

B. 20mL

C. 30mL

D. 40mL

Answer: C

Watch Video Solution

H2SO4

42. In acidic medium, permanganate is reduced to  by excess of

reducing agent as .Therefore, the

equivalent mass of  is obtained on dividing its nolecular mass by

:

A. 8

Mn2 +

MnO4 − + 8H + 5eMn2 + + 4H2O

KMnO4

https://dl.doubtnut.com/l/_q2MFupOUyWk4
https://dl.doubtnut.com/l/_e4d6kRM8rtEl


B. 1

C. 5

D. 1

Answer: C

Watch Video Solution

43. How many electrons are involved in oxidation by  in basic

medium

A. one

B. five

C. three

D. four

Answer: A

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_e4d6kRM8rtEl
https://dl.doubtnut.com/l/_JA25hHVleGKE


44. What is the oxidation state of  in ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl ClO3

+V I

III

+IV

II

45. Oxidation state of oxygen in  IS

A. 

B. 2

C. S

D. 

H2O2

−1

−2

https://dl.doubtnut.com/l/_JA25hHVleGKE
https://dl.doubtnut.com/l/_Ihr4I55x5TBN
https://dl.doubtnut.com/l/_sd4Xz9vjuo8t


Answer: A

Watch Video Solution

46. What is the oxidation number of nickel in Ni(CO)_4 ?

Watch Video Solution

47. What is the oxidation number of silver in  ?

Watch Video Solution

[Ag(NH3)2]Cl

48. What is the role of  in the preparation of  from HCI?

Watch Video Solution

MnO2 Cl2

https://dl.doubtnut.com/l/_sd4Xz9vjuo8t
https://dl.doubtnut.com/l/_YtOuDAYXYtHa
https://dl.doubtnut.com/l/_wTu8WvsRzNtg
https://dl.doubtnut.com/l/_VGW199wdjW0e


49. What is the change in oxidation number of the encircled element in

the following .

Watch Video Solution

[Fe(CN)6]
4 −

→ [Fe(CN)6]
3 −

50. What is the change in the oxidation number of the marked element in

the following.

(i)  


(ii)

Watch Video Solution

K2CrO4 → K2Cr2O7

Na2SO3 → Na2SO4

51. What is the oxidation number of iron in  is ?.

Watch Video Solution

[Fe(CN)6]
3 −

52. Write any reaction in which  acts as an oxidising agent.H2O

https://dl.doubtnut.com/l/_98da68431EiZ
https://dl.doubtnut.com/l/_n8WesnzjLKQ4
https://dl.doubtnut.com/l/_XSIvhK6w68e0
https://dl.doubtnut.com/l/_vtXNmIHXBekI


Watch Video Solution

53. What is the oxidation number of Iron in Potassium Ferric Cyanide ?

Watch Video Solution

54. What is the oxidation number of N in ?

Watch Video Solution

N2H4

55. Fill up the gap in the following equation,

Watch Video Solution

MnO
− +
4 8H + − → Mn2 + + 4H2O

56. What is the oxidation number of Cr in  ?

Watch Video Solution

K2Cr2O7

https://dl.doubtnut.com/l/_vtXNmIHXBekI
https://dl.doubtnut.com/l/_eq665lzg8o9f
https://dl.doubtnut.com/l/_Wm2hyKstOPz5
https://dl.doubtnut.com/l/_G2qybiSEpTYZ
https://dl.doubtnut.com/l/_f4T6BhV5nLfq


57. What is the oxidation number of Mn in  ?

Watch Video Solution

K2MnO4

58. Oxidation is due to _ of electrons whereas reduction is due to _ of

electrons.

Watch Video Solution

59. What is the oxidation number of hydrogen in sodium hydride?

Watch Video Solution

60. Reduction is __ofelectrons.

Watch Video Solution

https://dl.doubtnut.com/l/_f4T6BhV5nLfq
https://dl.doubtnut.com/l/_Fjoo77r1pCsl
https://dl.doubtnut.com/l/_5G6kSayDBRn5
https://dl.doubtnut.com/l/_zcvtttnkEDh7
https://dl.doubtnut.com/l/_0qaujIJ47F4J
https://dl.doubtnut.com/l/_eAI0MvEfkInD


61. What is the oxidation number of  ?

Watch Video Solution

Mn ∈ KMnO4

62. What is the oxidation numbe of N in  ?

Watch Video Solution

N2H4

63. What is oxidation number of 

(a) S in 


(b) S in 


(c) P in 


(d) Cl in 


(e) Fe in 


(f)Fe in 


(g) O in 

Watch Video Solution

Na2S2O3

Na2S4O6

H3PO4

KClO3

K3[Fe(CN)6]

K4[Fe(CN)6]

OF2

https://dl.doubtnut.com/l/_eAI0MvEfkInD
https://dl.doubtnut.com/l/_tad2o13pHzzY
https://dl.doubtnut.com/l/_z8Lr8aVrXsZ6
https://dl.doubtnut.com/l/_IjhK5WuLKE2h


64. Complete and blance the following equation : 

(acidic)

Watch Video Solution

Cr2O
2 −
7 + NO − 2 → Cr3 + NO3 −

65. Balance the following ionic equation : 

Watch Video Solution

MnO
− +
4 H2O2 → MnO2 + O2 + OH −

66. Complete and blance the following equation : 

(acidic)

Watch Video Solution

Cr2O
2 −
7 + NO − 2 → Cr3 + NO3 −

67. Balance the following equation by ionelectron method. MnO 4
​
−
+C 2
 ​

O 4
​
2−
+H +
→Mn 2+
+CO 2
​
+H 2
​
O.

W h Vid S l i

https://dl.doubtnut.com/l/_IjhK5WuLKE2h
https://dl.doubtnut.com/l/_TQ1Hkn8SfsiN
https://dl.doubtnut.com/l/_mYXUscZDKR5h
https://dl.doubtnut.com/l/_qbiywY2z5EL4


Watch Video Solution

68. Fill up the gaps in the following equations :

 +…….+……...

Watch Video Solution

Cr2O
2 −
7 + 8H + + 3NO− →

2 2Cr3 ^ +

69. Write the ion-electron equation for the following : 

Watch Video Solution

Cu + H2SO4 → CuSO4 + SO2 + 2H2O

70. Give two examples of oxidation-reduction reaction.

Watch Video Solution

71. Complete the equation given below and make it a balanced one : 

KMnO4 + H2SO4 + H2O →

https://dl.doubtnut.com/l/_qbiywY2z5EL4
https://dl.doubtnut.com/l/_wkPbBID6wpYA
https://dl.doubtnut.com/l/_9W4eMSCwK5KO
https://dl.doubtnut.com/l/_XTYp82YiMAN1
https://dl.doubtnut.com/l/_FySmZLDrgUjk


Watch Video Solution

72. Balance the equation :

Watch Video Solution

Cr2O
2 −
7 + H + + S2 → Cr3 + S + H2O

73. Complete and balance the following equation :

Watch Video Solution

S2O
2 −
3 + I2 → S4O

2 −
6 + I −

74. Write a baanced chemical equation in the reaction of  with

acidified  solution.

Watch Video Solution

H2O2

KMnO4

https://dl.doubtnut.com/l/_FySmZLDrgUjk
https://dl.doubtnut.com/l/_uq3nYFuUZOfK
https://dl.doubtnut.com/l/_yrAthfCZlaMU
https://dl.doubtnut.com/l/_mytaul3AS5Po


75. Complete and balance the equation. 

Watch Video Solution

Sn+ ^ 2 + H2O2 → Sn+ ^ 4

76. Calculate the molarity when 73 grams of HCl is dissolved in water to

make 1500 ml solution.

Watch Video Solution

77. What is the oxidation number of Mn in  and  ?

Watch Video Solution

K2MnO4 KMnO4

78. A solution containing 10.5 grams of an alkali is completely nutralised

by 500 ml of 0.5 N acid . What is the equivalent weight of the base ?

Watch Video Solution

https://dl.doubtnut.com/l/_mfNqbBNchCyJ
https://dl.doubtnut.com/l/_ynLvgE4ZghAp
https://dl.doubtnut.com/l/_UQ0J05p0PgxG
https://dl.doubtnut.com/l/_E2iYOsDXeJfC


79. Balance the equaation. 

 +  +  

Watch Video Solution

MNO
−
4 Cl− H + → Mn+ + + Cl2 + H2O

80. Give the ionic equation between copper truning and conc .

Watch Video Solution

HNO3

81. Give the ionic equation of oxidation of iodine by conc .

Watch Video Solution

HNO3

82. Complete and balance the equation. 

Watch Video Solution

Zn + NO− →
3 Zn+ + + NH

+
4

https://dl.doubtnut.com/l/_E2iYOsDXeJfC
https://dl.doubtnut.com/l/_ZeSEiUA3VCMg
https://dl.doubtnut.com/l/_lfGpG60UpgOL
https://dl.doubtnut.com/l/_DszrJ0K3Qdtc
https://dl.doubtnut.com/l/_XEIrWIEGP6bR


83. Balance the equation be ion-electron method :

Watch Video Solution

Fe3 + + Sn2 → Fe2 + + Sn4 +

84. Balance the equation 

Watch Video Solution

MnO
− +
4 H + + Fe2 → Mn2 + H2O + Fe3 ^ +

85. Oxidation number of Fe in Fe_(0.94)O is:

A. 200

B. 

C. 94//200

D. None

200/94

https://dl.doubtnut.com/l/_XEIrWIEGP6bR
https://dl.doubtnut.com/l/_F2N1oofvpWj1
https://dl.doubtnut.com/l/_yHq6kpwy6i6A
https://dl.doubtnut.com/l/_mVurQYxKWYvr


Answer: B

Watch Video Solution

86. Oxidation number of Fe in  is

A. 2

B. 1

C. 3

D. -2

Answer: A

Watch Video Solution

Na2[fe(CN)5NO]

87. Oxidation number of Cr in  is:

A. 6

CrO5

https://dl.doubtnut.com/l/_mVurQYxKWYvr
https://dl.doubtnut.com/l/_RM62GzgfxJ87
https://dl.doubtnut.com/l/_ua9w5xowhfRT


B. 10

C. 4

D. 8

Answer: A

Watch Video Solution

88. Oxidation number of Ca in  is:

A. - 1 and + 1

B. 2

C. -2

D. None

Answer: A

Watch Video Solution

CaOCI2

https://dl.doubtnut.com/l/_ua9w5xowhfRT
https://dl.doubtnut.com/l/_2jcWiz8RsB5n
https://dl.doubtnut.com/l/_QgdwSmpZKtag


89. The value of n in , 

 is :

A. 5

B. 4

C. 3

D. 2

Answer: A

Watch Video Solution

MnO
− +
4 8H + + ne− →Mn2 + 4H2O

90. Equivalent weight of  in the change is :


A. 

B. 28

C. 

N2

N2 → NH3

28/6

28/2

https://dl.doubtnut.com/l/_QgdwSmpZKtag
https://dl.doubtnut.com/l/_IjJfYdzBJHmb


D. 

Answer: A

Watch Video Solution

28/3

91. In which reaction is hydrogen acting as an oxidising agent ?

A. With iodine to, give hydrogen iodide

B. With lithium to give lithiym hydride

C. With nitrogen to give ammonia

D. With sulphur to give hydrogen sulphide

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IjJfYdzBJHmb
https://dl.doubtnut.com/l/_Sgi7xuVwxh1P


92. In a reaction between zinc and iodine in which zinc iodide is formed,

which is oxidized ?

A. Zinc ions

B. Iodide ions

C. Zinc atom

D. Iodine

Answer: C

Watch Video Solution

93. Addition of zinc powder to solution precipitates copper

due to :

A. Reduction of 

B. Reduction of 

C. Reduction of Zn

CuSO − 4

Cu2 +

SO
2 −
4

https://dl.doubtnut.com/l/_yfP3m96VJUxL
https://dl.doubtnut.com/l/_TMm2smUo7iyB


D. Hydrolysis of 

Answer: A

Watch Video Solution

CuSO4

94. In the reaction between acidified  and iron (II) ions shown by

the equation : 

A. The colour of the solution changes from green to yellow

B. The iron (II) ions are reduced

C. The dichromate ions are reduced

D. Hydrogen ions are reduced

Answer: C

Watch Video Solution

K2Cr2O7

Cr2O
2 −
7 (aq) + 6Fe2 + (aq) + 14H + (aq) → 2Cr3 + (aq) + 7H2O(l) + 6Fe3

https://dl.doubtnut.com/l/_TMm2smUo7iyB
https://dl.doubtnut.com/l/_jyxqPKFnbaNa
https://dl.doubtnut.com/l/_tMlZ8cYhLW89


95. Which reaction involves oxidationreduction ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NaBr + HCI → NaCl + HBr

HBr + AgNO3 → AgBr + HNO3

2NaOH + H2SO4 → Na2SO4 + 2H2O

H2 + Br2 → 2HBr

96. Which one is not an example of redox reaction ?

A. 

B. 

C. 

D. 

Cl2 + 2H2O + SO2 → 4H + + SO
2 −
4 + 2Cl−

Cu2 + + Zn → Zn2 + + Cu

2H2 + O2 → 2H2O

HCI + H2O → H3O
+ + Cl−

https://dl.doubtnut.com/l/_tMlZ8cYhLW89
https://dl.doubtnut.com/l/_pvxtjAa33pcb


Answer: D

Watch Video Solution

97. In  act as :

A. Oxidant

B. Reductant

C. Both (a) and (b)

D. None of these

Answer: A

Watch Video Solution

C + H2O → CO + H2, H2O

98. Which acts as reducing agent as well as oxidising agent ?

A. O3

https://dl.doubtnut.com/l/_pvxtjAa33pcb
https://dl.doubtnut.com/l/_BRlG6WCHY8C2
https://dl.doubtnut.com/l/_04xJ4eqH3Aan


B. 

C. 

D. 

Answer: A

Watch Video Solution

CIO
−
4

F2

MnO
−
4

99. Which is not a redox change ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaCO3 → CaO + CO2

2H2 + O2 → 2H2O

Na + H2O → NaOH + H2

1

2

MnCl3 → MnCl2 + Cl2
1

2

https://dl.doubtnut.com/l/_04xJ4eqH3Aan
https://dl.doubtnut.com/l/_s3k4OWbMPQli
https://dl.doubtnut.com/l/_tMoxSMVxvjK1


100. The correct order of reducing power of ahlide ions is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl− >Br− > I − >F −

Cl− > I − >Br− >F −

Br− >Cl− > l− >F −

I − >Br− >Cl− >F −

101. Saline hydrides are :

A. Strong oxidants

B. Strong reductants

C. Strong dehydrading agents

D. Strong bleaching agents

https://dl.doubtnut.com/l/_tMoxSMVxvjK1
https://dl.doubtnut.com/l/_8ZxbRC72YQhM


Answer: B

Watch Video Solution

102. In the aluminothermic process, aluminium acts as:

A. An oxidising agent

B. A flux

C. A reducing agent

D. A solder

Answer: C

Watch Video Solution

103. Solution of sodium metal in liquid  is strongly reducing due to

the presence of :

NH3

https://dl.doubtnut.com/l/_8ZxbRC72YQhM
https://dl.doubtnut.com/l/_vEtBGoFVoQYS
https://dl.doubtnut.com/l/_sspobKJdPkTu


A. Sodium atoms

B. Solvated electrons

C. NaOH

D. Spdoum amide

Answer: B

Watch Video Solution

104. The stable oxidation states of Mn are:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+2, + 3

+3, + 7

+2, + 7

+3, + 5

https://dl.doubtnut.com/l/_sspobKJdPkTu
https://dl.doubtnut.com/l/_b5I3KgoEbAfl


105. Oxidising power depends on:

A. Reduction potential

B. Electrons affinity

C. lonisation energy

D. None of the above

Answer: A

Watch Video Solution

106. Which shows same oxidation state in all its compounds with other

elements :

A. Hydrogen

B. Fluorine

C. Carbon

https://dl.doubtnut.com/l/_b5I3KgoEbAfl
https://dl.doubtnut.com/l/_ZE8ajR0ju8yY
https://dl.doubtnut.com/l/_fCCx8qEndlqq


D. Oxygen

Answer: B

Watch Video Solution

107. Iodine oxidises ion to:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

S2O
2 −
3

SO2 −
3

SO
2 −
4

S4O
2 −
6

S2 −

108. Which of the following acids is strongest ?

https://dl.doubtnut.com/l/_fCCx8qEndlqq
https://dl.doubtnut.com/l/_ZCFZCG8G6lJu
https://dl.doubtnut.com/l/_40lyZxV21z4d


A. 

B. HOCl

C. 

D. 

Answer: A

Watch Video Solution

HBrO4

HNO3

H3AsO3

109. Aqueous solution of  reacts with to precipitate sulphur. Here

 act as :

A. Catalyst

B. Reducing agent

C. Oxidising agent

D. Acid

Answer: C

SO2 H2S

SO2

https://dl.doubtnut.com/l/_40lyZxV21z4d
https://dl.doubtnut.com/l/_cfV9gF8W0WdL


Watch Video Solution

110. How many mole of electrons are involved in the reduction of one

mole of MnO_4^- ion in alkaline medium to  :

A. 2

B. 1

C. 3

D. 4

Answer: A

Watch Video Solution

MnO−
3

111. The reaction , H 2
​
S+H 2
​
O 2
​
→S+2H 2
​
O shows :

A. 

B. Alkaline nature of 

AcidicnatureofH2O2

H2O2

https://dl.doubtnut.com/l/_cfV9gF8W0WdL
https://dl.doubtnut.com/l/_8pnxFgZS5hRI
https://dl.doubtnut.com/l/_93zAO8rd9KRU


C. Oxidising action of 

D. Reducing action of 

Answer: C

Watch Video Solution

H2O2

H2O2

112. Which one of the compounds does not decolourised an acidified

solution of  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4

SO2

FeCl3

H2O2

FeSO4

https://dl.doubtnut.com/l/_93zAO8rd9KRU
https://dl.doubtnut.com/l/_N0nObh7nzWwl
https://dl.doubtnut.com/l/_k71m8TDRg3Fy


113. When NaCl is dissolved in water , the sodium ion becomes :

A. Oxidised

B. Reduced

C. Hydrolysed

D. Hydrated

Answer: D

Watch Video Solution

114. The oxidation state of nitrogen varies form :

A. 

B. 

C. 

D. 

−3 → + 5

0 → + 5

−3 → 1

+3 → + 5

https://dl.doubtnut.com/l/_k71m8TDRg3Fy
https://dl.doubtnut.com/l/_QeWwZrcrsQk2


Answer: D

Watch Video Solution

115. In the reaction , 

 →  which element is

reduced ?

A. I

B. O

C. H

D. Cr

Answer: D

Watch Video Solution

Cr2O
2 −
7 + 14H + + 6I 2Cr3 + + 7H2O + 3I2

116. Which is a strong reducing agent ?

https://dl.doubtnut.com/l/_QeWwZrcrsQk2
https://dl.doubtnut.com/l/_RhFsVfLhQfHy
https://dl.doubtnut.com/l/_ljazrVoJMU4J


A. Hydrogen iodide

B. Sodium hypochlorite

C. Feric chloride

D. Potassium bromide

Answer: A

Watch Video Solution

117. If  is passed through an acidified solution, the colour of

the solution :

A. Will remain unchanged

B. Will change to deep red

C. Will change to dark green

D. Will change to dark brown

Answer: C

H2S K2Cr2O7

https://dl.doubtnut.com/l/_ljazrVoJMU4J
https://dl.doubtnut.com/l/_xmgBp5kackg1


Watch Video Solution

118. The oxidation number that iron does not exhibit in its common

compounds or in its elemental state is :

A. Zero

B. 

C. 

D. 

Answer: B

Watch Video Solution

+1

+2

+3

119. In the preparation of chlorine from  act as :

A. Reducing agent

B. Oxidising agent

HCI, MnO2

https://dl.doubtnut.com/l/_xmgBp5kackg1
https://dl.doubtnut.com/l/_uhPc3hOHH4eV
https://dl.doubtnut.com/l/_DASxRucn9r8s


C. Catalytic agent

D. Dehydrating agent

Answer: B

Watch Video Solution

120. What would happen when a small quantity of  is added to a

solution of  ?

A. Colour disappears

B.  is evolved

C. An electron is added to Fe^(2+)

D. An electron is lost by 

Answer: D

Watch Video Solution

H2O2

FeSO4

H2

Fe2 +

https://dl.doubtnut.com/l/_DASxRucn9r8s
https://dl.doubtnut.com/l/_MYh9Kdg35g51
https://dl.doubtnut.com/l/_o66A6BzLw2qm


121. Bleaching action of chlorine in presence of moisture is :

A. Reduction

B. Oxidation

C. Hydrolysis

D. Substitution

Answer: B

Watch Video Solution

122. Which is strongest oxidising agent ?

A. 

B. 

C. 

D. 

Cl2

F2

O3

O2

https://dl.doubtnut.com/l/_o66A6BzLw2qm
https://dl.doubtnut.com/l/_nABhHOOhpKoW


Answer: B

Watch Video Solution

123. Conversion of  to  is a process of :

A. Oxidation

B. Reduction

C. Dehydration

D. Bothe oxidation and reduction

Answer: B

Watch Video Solution

KMnO4 MnSO4

124. Which acts as a reducing agent ?

A. HNO3

https://dl.doubtnut.com/l/_nABhHOOhpKoW
https://dl.doubtnut.com/l/_eJvfbrQp3aSr
https://dl.doubtnut.com/l/_u1jnqIilfvi8


B. 

C. 

D. 

Answer: D

Watch Video Solution

KMnO4

H2SO4

(COOH)2

125. Stronger is oxidising agent, more is :

A. Standard reduction potential of that species

B. The tendency to get itself oxidised

C. The endency to lose electrons by that species

D. Standard oxidation potential of that species

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_u1jnqIilfvi8
https://dl.doubtnut.com/l/_XomSVnroOqeo
https://dl.doubtnut.com/l/_lIrGbJRHMelv


126.  is passed through an acidified solution of copper sulphate and a

black precipitate is fromen. This is due to :

A. Oxidation of 

B. Reduction of 

C. Double decomposition

D. Reduction and oxidation

Answer: C

Watch Video Solution

H2S

Cu2 +

Cu2 +

127. Equivalent weight of  in the change is :


A. 

B. 17

C. 

NH3

N2 → NH3

28/3

17/2

https://dl.doubtnut.com/l/_lIrGbJRHMelv
https://dl.doubtnut.com/l/_HIGjmarrAJvS


D. 17//3

Answer: D

Watch Video Solution

128. Equivalent weight of  in the change : 

 is :

A. 

B. 

C. 

D. M//1

Answer: A

Watch Video Solution

FeC2O4

FeC2O4 → Fe3 + + CO2

17/2

M /3

M /2

https://dl.doubtnut.com/l/_HIGjmarrAJvS
https://dl.doubtnut.com/l/_eju76yZY8hhC


129. Oxidation number of carbon of carbon in carbon suboxide is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+2/3

+4/3

+4

−4/3

130. The oxidation number of sulphur in , , ,  respectively are :

A. 0, + 1 and -2

B. 

C. 

D. 

S8 S2 F2 H2S

+2, + 1 and − 2

0, + 1 and + 2

−2, + 1 and − 2

https://dl.doubtnut.com/l/_gGMqzcQTYxEO
https://dl.doubtnut.com/l/_N8hKt6U4smpi


Answer: A

Watch Video Solution

131. When  is passed in a solution of potassium iodate, the oxidation

state of iodine changes from :

Watch Video Solution

SO2

132. When  is passed in acidified potassium dichromate solution, the

oxidation state of S is changed from :

A. 

B.  to 

C.  to 

D.  to 

Answer: C

SO2

+4 → 0

+4 +2

+4 +6

+6 +4

https://dl.doubtnut.com/l/_N8hKt6U4smpi
https://dl.doubtnut.com/l/_8bac5mBDzyVa
https://dl.doubtnut.com/l/_KL28pCUm5iXS


Watch Video Solution

133. The oxidation number of sulphur in  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2S2O8

+2

+6

+7

+14

134. Oxidation number of sulphur in  is:

A. 

B. 

C. 

Na2SO4

+2

+4

+6

https://dl.doubtnut.com/l/_KL28pCUm5iXS
https://dl.doubtnut.com/l/_zRTrx7u4eiM0
https://dl.doubtnut.com/l/_rBbfmpWVZkP4


D. 

Answer: C

Watch Video Solution

−2

135. A compound contains atoms X, Y, Z. The oxidation number of X is +2 ,

Y is +5, and Z is -2. The possible formula of the compound is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XY1Z2

Y2(XZ3)2

X3(Y Z4)2

X3(Y4Z)2

https://dl.doubtnut.com/l/_rBbfmpWVZkP4
https://dl.doubtnut.com/l/_1gsV1gJhVy3q


136. Oxidation number of carbon in KCN is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+2

−2

+1

+3

137. The oxidation number of Ni in is:

A. 

B. 

C. 

D. `+3

K4[Ni(CN)6]

+6

+4

+2

https://dl.doubtnut.com/l/_1P46E2G3YYRk
https://dl.doubtnut.com/l/_869eBEd47IIR


Answer: C

Watch Video Solution

138. Oxidation number of nitrogen in  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

AgNO3

+5

−3

+3

−2

139. In the reaction ,

the element oxidised

is/are:

As2S3 + HNO3➡H3AsO4 + H2SO4 + NO,

https://dl.doubtnut.com/l/_869eBEd47IIR
https://dl.doubtnut.com/l/_Q3JQDIfIwElD
https://dl.doubtnut.com/l/_bGRfmWLKQYD9


A. As only

B. S only

C. N only

D. As and S both

Answer: D

Watch Video Solution

140. One gas bleaches the colour of the flowers by reduction while the

other by oxidation. The gases are:

A. 

B. 

C. 

D. 

Answer: C

CO, CI2

H2S, Br2

SO2, CI2

NH3, SO3

https://dl.doubtnut.com/l/_bGRfmWLKQYD9
https://dl.doubtnut.com/l/_qnCZE6JFxgqK


Watch Video Solution

141. Which is the reducing agent in the reaction. The gases are : 

:

A. Sn(s)

B. 

C. 

D. 

Answer: A

Watch Video Solution

8H + + 4NO−
3 + 6Cl− + Sn(s) → SnCl2 −

6 + 4NO2

Cl−

NO−
3

NO2(g)

142. The conversion of PbS to Pb is :

A. Dissociation

B. Oxidation

https://dl.doubtnut.com/l/_qnCZE6JFxgqK
https://dl.doubtnut.com/l/_VAEIj2RyWrsf
https://dl.doubtnut.com/l/_rwwXFBO6rKoE


C. Reduction

D. Electrolysis

Answer: C

Watch Video Solution

143. In the reaction,

,the

reduction product is :

A. 

B. 

C. KCI

D. 

Answer: B

Watch Video Solution

2KMnO4 + 16HCI → 2KCI + 2MnCI2 + 8H2O + 5CI2

CI2

MnCI2

H2O

https://dl.doubtnut.com/l/_rwwXFBO6rKoE
https://dl.doubtnut.com/l/_B0d36KWGBqdf


144. Ozone tails mercury. The reaction is ……..of Hg:

A. Reduction

B. Oxidation

C. Substitution

D. None of these

Answer: B

Watch Video Solution

145. The maximum oxidation number of transition metals may be :

A. 

B. 

C. 

D. 

+4

+6

+8

+10

https://dl.doubtnut.com/l/_B0d36KWGBqdf
https://dl.doubtnut.com/l/_jTRX6ltDzMWw
https://dl.doubtnut.com/l/_lzci1hDDsJIb


Answer: C

Watch Video Solution

146. Carbon is in the lowest oxidation state in :

A. 

B. CCI_4`

C. 

D. 

Answer: A

Watch Video Solution

CH4

CO2

CF4

147. In sodium hydride, oxidation state of sodium is :

A. Zero

https://dl.doubtnut.com/l/_lzci1hDDsJIb
https://dl.doubtnut.com/l/_Bwa03cw1FRjd
https://dl.doubtnut.com/l/_sOIZVX8eNiIT


B. 

C. 

D. 

Answer: B

Watch Video Solution

+1

−1

+2

148. The oxidation number of iodine in  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

IF5

+5

−5

−1

+1

https://dl.doubtnut.com/l/_sOIZVX8eNiIT
https://dl.doubtnut.com/l/_Rl3Ht6Yubt1z
https://dl.doubtnut.com/l/_E71jGFt3kWDw


149. What is the O.N. of Mn in :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K2MnO4

+4

+6

+2

+8

150. With which element oxygen shows positive oxidation state in its

compounds :

A. Na

B. CI

C. N

D. F

https://dl.doubtnut.com/l/_E71jGFt3kWDw
https://dl.doubtnut.com/l/_JayDFb6bwhOo


Answer: D

Watch Video Solution

151. The decomposition of  to KCI AND  on heating is an

example of :

A. Intermolecular redox change

B. Intramolecular redox change

C. combination change

D. None of the above

Answer: B

Watch Video Solution

KCIO3 O2

152. In the reaction, 

4P + 3KOH + 3H2O → 3KH2PO2 + PH3

https://dl.doubtnut.com/l/_JayDFb6bwhOo
https://dl.doubtnut.com/l/_shRYo9ovDKoA
https://dl.doubtnut.com/l/_ZKR6CYzBtMIR


A. P is oxidised only

B. P is reduced only

C. P is oxidised as well as reduced

D. None of these

Answer: C

Watch Video Solution

153. In which  acts as oxidant, while reacting with ?

A. Acidified 

B. Acidified 

C. 

D. Acidified 

Answer: C

Watch Video Solution

SO2

KMnO4

K2Cr2O7

H2S

C2H5OH

https://dl.doubtnut.com/l/_ZKR6CYzBtMIR
https://dl.doubtnut.com/l/_ud40KuB7FQWT


154. Which of the following is redox reaction ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

N2O5 + H2O → 2HNO3

AgNO3 + KI → AgI + KNO3

BaO2 + H2SO4 → BaSO4 + H2O2

SnCI2 + HgCI2 → SnCI4 + Hg

155. Which is not a redox reaction ?

A. 

B. 

C. 

BaO2 + H2SO4 → BaSO4 + H2O2

2BaO + O2 → 2BaO2

4KCIO3 → 4KCIO2 + 2O2

https://dl.doubtnut.com/l/_ud40KuB7FQWT
https://dl.doubtnut.com/l/_jrW3BtKEJd28
https://dl.doubtnut.com/l/_SI2OoshEUdJ0


D. 

Answer: A

Watch Video Solution

SO2 + 2H2S → 2H2O + 3S

156. Bleaching action of  is due to :

A. Reduction

B. Oxidation

C. Hydrolysis

D. Acidic nature

Answer: A

Watch Video Solution

SO2

157. Which among the following shows maximum oxidation state ?

https://dl.doubtnut.com/l/_SI2OoshEUdJ0
https://dl.doubtnut.com/l/_QUqZmvpJM6Bz
https://dl.doubtnut.com/l/_OiPDdZoIE4V6


A. V

B. Fe

C. Mn

D. Cr

Answer: C

Watch Video Solution

158. Which can act only as oxidising agent ?

A. Oxygen

B. Fluorine

C. Iodine

D. 

Answer: B

Watch Video Solution

H2O2

https://dl.doubtnut.com/l/_OiPDdZoIE4V6
https://dl.doubtnut.com/l/_SJfssfIAnehe


159. In which iron has the lowest oxidation state ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Fe(CO)5

Fe2O

K4Fe(CN)6

FeSO4(NH4)2SO46H2O

160. Tailing of mercury can be removed by :

A. 

B. 

C. 

H2O2

O3

O2

https://dl.doubtnut.com/l/_SJfssfIAnehe
https://dl.doubtnut.com/l/_Slcy7DpREgBZ
https://dl.doubtnut.com/l/_vxH6QI8VbtWs


D. None of these

Answer: A

Watch Video Solution

161. .This reaction is :

A. Oxidation reaction

B. Reduction reaction

C. Redox reaction

D. None of the above

Answer: C

Watch Video Solution

Co(s) + Cu2 + (aq) → Co2 + (aq) + Cu(s)

https://dl.doubtnut.com/l/_vxH6QI8VbtWs
https://dl.doubtnut.com/l/_2USSRRBm6rUi


162. The colour of  changes from redorange to lemon yellow on

treatment with KOH(aq.) because of :

A. Reduction of Cr (vi) to Cr (III)

B. Formation of dichromate hydroxide

C. Conversion of dichromate into chromate ion

D. Oxidation of potassium hydroxide ot potassium peroxide

Answer: C

Watch Video Solution

K2Cr2O7

163. Sulphurous acid can be used as:

A. Oxidising agent

B. Reducing agent

C. Bleaching agent

D. All of the above

https://dl.doubtnut.com/l/_0aASnfRgXRiB
https://dl.doubtnut.com/l/_5rcahkAuByTA


Answer: D

Watch Video Solution

164. Which substance serves as a reducing agent in the following

reactions, 

`14H^+ +Cr_2O_7^(2-) +3Ni rarr 2Cr^(3+) +7H_2O +3Ni^(2+)

A. 

B. Ni

C. 

D. 

Answer: B

Watch Video Solution

H2O

H +

Cr − 2O2 −
7

165. In which of the following processes nitorgen is oxidised ?

https://dl.doubtnut.com/l/_5rcahkAuByTA
https://dl.doubtnut.com/l/_OArOGk2fRsw9
https://dl.doubtnut.com/l/_qluwJbaAe1b6


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH
+

4 → N2

NO− →
3 NO

NO2 → NO−
2

NO3 → NH
+

4

166. In the reaction,

 the oxidation state of sulphur is :

A. Decreased

B. Increased

C. Unchanged

D. None of these

Answer: B

2Na2S2O3 + I2 → Na2S4O6 + 2NaI

https://dl.doubtnut.com/l/_qluwJbaAe1b6
https://dl.doubtnut.com/l/_uwkNChnLhwXe


Watch Video Solution

167. Starch iodide paper is used to test for the presence of :

A. Iodine

B. Iodine ion

C. Oxidant

D. Reductant

Answer: C

Watch Video Solution

168. The oxidation state of Ni in  is:

A. Zero

B. 

C. 

Ni(Co)4

+4

+8

https://dl.doubtnut.com/l/_uwkNChnLhwXe
https://dl.doubtnut.com/l/_Hgk6UpgUeB2j
https://dl.doubtnut.com/l/_M63xyVrmydVd


D. 

Answer: A

Watch Video Solution

+2

169. The number of mole of oxalate icons oxidised by one mole of acidified

MnO_4^- is:

A. 

B. 

C. 

D. 5

Answer: C

Watch Video Solution

1/5

2/5

5/2

https://dl.doubtnut.com/l/_M63xyVrmydVd
https://dl.doubtnut.com/l/_h9jOYWrX25J9


170. How many mole of electrons are involved in the reduction of one

mole of MnO_4^- ion in alkaline medium to  :

A. 2

B. 1

C. 3

D. 4

Answer: A

Watch Video Solution

MnO−
3

171. When  is treated with excess HCI, the complex is

formed. The oxidation state of Sn in this complex is :

A. 

B. 

C. 

SnCl4 [SnCl6]2 −

+6

−2

+4

https://dl.doubtnut.com/l/_tGqroS6sm5zq
https://dl.doubtnut.com/l/_y5qzrpj4yOaJ


D. 

Answer: C

Watch Video Solution

−5

172. Oxidation state of oxygen atom in potassium superoxide  is

A. 

B. Zero

C. 

D. 

Answer: A

Watch Video Solution

(KO2)

1/2

+1/2

−2

https://dl.doubtnut.com/l/_y5qzrpj4yOaJ
https://dl.doubtnut.com/l/_yYaswrbyfvFF


173. When  is reduced with oxalic acid in acid medium, the

oxidation number of Mn changes from :

A.  to

B.  to

C. to 

D.  to

Answer: C

Watch Video Solution

KMnO4

+7 +4

+6 +4

+7 +2

+4 +2

174. Oxidation number of chromium in  is:

A. 

B. 

C. 

D. 

K2Cr2O7

+2

+3

+6

−4

https://dl.doubtnut.com/l/_FpmCfT6C77UQ
https://dl.doubtnut.com/l/_B1BuVcXlYLDm


Answer: C

Watch Video Solution

175. The maximum oxidation state of chromium is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+6

+4

+8

+7

176. Iodine has highest oxidation number in the compound :

A. KIO4

https://dl.doubtnut.com/l/_B1BuVcXlYLDm
https://dl.doubtnut.com/l/_yIlXK1zOvO9x
https://dl.doubtnut.com/l/_bz7Cv9pPkT5z


B. 

C. 

D. KI

Answer: A

Watch Video Solution

IF5

KI2

177. Oxidation number of P in  :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P2O
4 −
7

+3

+4

+5

+6

https://dl.doubtnut.com/l/_bz7Cv9pPkT5z
https://dl.doubtnut.com/l/_syZHXfneRVBm
https://dl.doubtnut.com/l/_YmZm7wcjevko


178. The oxidation state of S in  is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2S4O6

+2

+4

+6

+2.5

179. In which of the following oxidation number of chlorine is  is :

A. HCIO

B. 

C. 

D. 

+5

HCIO2

HCIO3

HCIO4

https://dl.doubtnut.com/l/_YmZm7wcjevko
https://dl.doubtnut.com/l/_bwkZjiQ6JaSC


Answer: C

Watch Video Solution

180. Number of electrons involved in the reduction of  ion in

acidic solution to  is:

A. 3

B. 4

C. 2

D. 6

Answer: D

Watch Video Solution

Cr2O
2 −
7

Cr3 +

181. A compound of Xe and F is found to have Xe in this compound

is :

53.3 %

https://dl.doubtnut.com/l/_bwkZjiQ6JaSC
https://dl.doubtnut.com/l/_jXjTaLzmSbVb
https://dl.doubtnut.com/l/_Do58EYifdwni


A. 

B. zero

C. 

D. 

Answer: D

Watch Video Solution

−4

+4

+6

182. An element which never has a positive oxidation number in any of its

compounds is:

A. Boron

B. Oxygen

C. Chlorine

D. Fluroine

Answer: D

https://dl.doubtnut.com/l/_Do58EYifdwni
https://dl.doubtnut.com/l/_2C2IK2TjBOxZ


Watch Video Solution

183. The oxidation number of phosphorus in  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ba(H2PO2)2

+3

+2

+1

−1

184. The number of electrons lost or gained during the change,

A. 2

B. 4

Fe + H2O → Fe3O4 + H2

https://dl.doubtnut.com/l/_2C2IK2TjBOxZ
https://dl.doubtnut.com/l/_leUIRvyFXJAd
https://dl.doubtnut.com/l/_tc50197P3Cym


C. 6

D. 8

Answer: D

Watch Video Solution

185. Oxidation number of S in  is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2SO5

+8

+2

+6

+4

https://dl.doubtnut.com/l/_tc50197P3Cym
https://dl.doubtnut.com/l/_cPp7PrvBLzeY


186. Ocidation number of Fe in  are :

A. ,and 

B.  and 

C.  and 

D. None

Answer: A

Watch Video Solution

Fe3O4

+2 +3

+1 +2

+1 +3

187. Pb shows oxidation state of

A. 

B. 

C. 

D. Only +4

+3, + 4

+1, + 2

+2, + 4

https://dl.doubtnut.com/l/_y8tjGSXibTcN
https://dl.doubtnut.com/l/_edEzPu3zAss2


Answer: C

Watch Video Solution

188. Carbon reacts with oxygen to from two oxides, CO and .This is

because :

A. Carbon has two crystalline forms

B. Carbon has two oxidation states

C. Oxygen donates as well as accepts electrons

D. Oxygen has a strong affinity for carbon.

Answer: B

Watch Video Solution

CO2

189. The oxidation number and covalency of sup,phur in the sulphur

molecule  are respectively :(S8)

https://dl.doubtnut.com/l/_edEzPu3zAss2
https://dl.doubtnut.com/l/_uKSC0ED8Ytax
https://dl.doubtnut.com/l/_g7kupmivq3A6


A. 0 and 2

B. and 

C. 0 and 8

D.  and 2

Answer: A

Watch Video Solution

+6 +8

+6

190. The most common oxidation state of an element is -2. The number of

electrons present in its outer most shell is:

A. 2

B. 4

C. 6

D. 8

Answer: C

https://dl.doubtnut.com/l/_g7kupmivq3A6
https://dl.doubtnut.com/l/_p5xvE7wOmYtI


Watch Video Solution

191. In the reaction: 

 acts :

A. Oxidising agent

B. Reducing agent

C. Dehydrating agent

D. None of these

Answer: A

Watch Video Solution

2Ag + 2H2SO4 → Ag2SO4 + 2H2O + SO2, H2SO4

192. In acidic medium, the reaction,  involves :

A. Oxidation by 3 electrons

B. Reduction by 3 electrons

MnO
1 −
4 → Mn2 +

https://dl.doubtnut.com/l/_p5xvE7wOmYtI
https://dl.doubtnut.com/l/_Oom0a8t3HEk4
https://dl.doubtnut.com/l/_uHmbJ0XZUEn0


C. Oxidation by 5 electrons

D. Reduction by 5 electrons

Answer: D

Watch Video Solution

193. Which can have both +ve and -ve odidation states?

A. F

B. I

C. Na

D. He

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_uHmbJ0XZUEn0
https://dl.doubtnut.com/l/_MykdOwomXXsi


194. In the equation, 

 +    + + ne- stand for :

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

NO−
2 H2O → NO−

3 2H +

195. Which is not an oxidising agent ?

A. 

B. 

C. 

D. 

KCIO3

O2

C6H12O6

K2Cr2O7

https://dl.doubtnut.com/l/_SWqqdFkzWHP1
https://dl.doubtnut.com/l/_lY0cYr0mES5w


Answer: C

Watch Video Solution

196.  is used as :

A. Oxidising agent

B. Reducing agent

C. A mordant

D. Water softner

Answer: B

Watch Video Solution

LiAIH4

197. The oxidation state of phoshorus varies form :

A.  to −1 +1

https://dl.doubtnut.com/l/_lY0cYr0mES5w
https://dl.doubtnut.com/l/_H2paRwXZgIYi
https://dl.doubtnut.com/l/_y5jEhy9m082c


B.  to 

C.  to

D.  to

Answer: C

Watch Video Solution

−3 +3

−3 +5

−5 +1

198. Respiration is :

A. Oxidation

B. Reduction

C. Both (a) and (b)

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_y5jEhy9m082c
https://dl.doubtnut.com/l/_uLQho5jXjDeD
https://dl.doubtnut.com/l/_zjmvYc8KR61s


199. In is:

A. Oxidised

B. Reduced

C. Both (a) and (b)

D. None of these

Answer: C

Watch Video Solution

N2 + 2H2O → NH
+

4 + NO−
2 , N

200. HBr and HI reduce  can reduce and HF can

reduce :

A. 

B. 

C. 

D. None of these

H2SO4, HCI KMnO4

H2SO4

K2Cr2O7

KMnO4

https://dl.doubtnut.com/l/_zjmvYc8KR61s
https://dl.doubtnut.com/l/_KkOlURb3EJe0


Answer: D

Watch Video Solution

201. The most stable oxidation state of copper is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+2

+1

+3

+4

202. In the reaction ,

 which

statement is correct ?

3Br2 + 6CO2 −
3 + 3H2O → 5Br− + BrO−

3 + 6HCO−
3

https://dl.doubtnut.com/l/_KkOlURb3EJe0
https://dl.doubtnut.com/l/_LVMl0ILruYqZ
https://dl.doubtnut.com/l/_IaZJT7oVIEXY


A. is oxidised

B.  is reduced

C.  is neither oxidised nor reduced

D.  is oxidised as well as reduced

Answer: D

Watch Video Solution

Br2

Br2

Br2

Br2

203. In which reaction  acts reducing agent?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2O2

Ag2O + H2O2 → 2Ag + H2O + O2

2KI + H2O2 → → 2KOH + 12

PbS + 4H2O2 → PbSO4 + 4H2O

H2O2 + SO2 → H2SO4

https://dl.doubtnut.com/l/_IaZJT7oVIEXY
https://dl.doubtnut.com/l/_NQuRHMHKtxg1


204. Which acts as a powerful oxidising agent ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2S

H2C2O4

FeSO4

CI2

205. In the reaction, 

:

A. Chlorine is oxidise

B. Chlorine is reduced

C. Chlorine is oxidised as well as reduced

CI2 + OH − →CI + CIO− +
3 H2O

https://dl.doubtnut.com/l/_NQuRHMHKtxg1
https://dl.doubtnut.com/l/_WATjg6R57Fp7
https://dl.doubtnut.com/l/_qzjQHHcshss2


D. Chlorine is neither oxidised nor reduced

Answer: C

Watch Video Solution

206. The oxidation state of +3 for phosphorous is in :

A. Hyprophosporous acid

B. Meta-Phosphoric acid

C. Ortho-phosphoric acid

D. Phosphorous acid

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qzjQHHcshss2
https://dl.doubtnut.com/l/_jXV6g8wnHEg5


207. As the oxidation state for any metal increases,the tendency to show

ionic nature:

A. Decreases

B. Increases

C. Remains same

D. None of these

Answer: A

Watch Video Solution

208. Which is a redox reaction ?

A. 

B. 

C. 

D. 

2CuI2 → 2CuI + I2

NaCI + AgNO3 → AgCI + NaNO3

NH4CI + NaOH → NH3 + NaCI + H2O

Cr2(SO4)3 + 6KOH → 2Cr(OH)3 + 3K2SO4

https://dl.doubtnut.com/l/_5A0GJs1GEUdP
https://dl.doubtnut.com/l/_PktOUdvtB8ny


Answer: A

Watch Video Solution

209. Fluorine is a strong oxidising agent because :

A. It has several isotopes

B. It is very small and has 7 electrons in valency shell

C. Its valency is one

D. It is the first member of the halogen series

Answer: B

Watch Video Solution

210. When an acidified solution of ferrous ammonium sulphate is treated

with  solution, the ion which is oxidised is:KMnO4

https://dl.doubtnut.com/l/_PktOUdvtB8ny
https://dl.doubtnut.com/l/_TPBi9jDgoip3
https://dl.doubtnut.com/l/_Uj79osZ27Umc


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Fe2 +

SO
2 −
4

NH
+

4

MnO
−
4

211. In the conversion of  to  the oxidation number of

chormium :

A. Increases

B. Romains the same

C. Decreases

D. None of these

Answer: B

K2Cr2O7 K2CrO4

https://dl.doubtnut.com/l/_Uj79osZ27Umc
https://dl.doubtnut.com/l/_of5xDtNP6YU9


Watch Video Solution

212. In the reaction,

 acts as :

A. An oxidising agent

B. An acid

C. An acid as well as oxidising agent

D. A reducing agent

Answer: A

Watch Video Solution

C + 4HNO3 → CO2 + 2H2O + 4NO2, HNO3

213. Which reaction involves oxidation nor reduction ?

A. 

B. 

CrO
2 −
4 → Cr2O

2 −
7

Cr → CrCI3

https://dl.doubtnut.com/l/_of5xDtNP6YU9
https://dl.doubtnut.com/l/_ikAkhHZ38kQS
https://dl.doubtnut.com/l/_r7wSFwVScnAi


C. 

D. 

Answer: A

Watch Video Solution

Na → Na+

2S2O
2 −
3 → S4O

2 −
6

214. The reaction ,  shows:

A. Oxidation

B. Reduction

C. Complex formation

D. All of these

Answer: D

Watch Video Solution

KI + I2 − > KI3

https://dl.doubtnut.com/l/_r7wSFwVScnAi
https://dl.doubtnut.com/l/_MvJxFj4KXxEC


215.  act as an oxidising agent in :

A. Acidic medium

B. Alkaline medium

C. Neutral medium

D. All of the above media

Answer: D

Watch Video Solution

KMnO4

216. The oxyacid which acts both as oxidising and reducing agent is :

A. 

B. 

C. 

D. 

H2SO4

H3PO4

HNO2

HCIO4

https://dl.doubtnut.com/l/_16m4EmKC1LYL
https://dl.doubtnut.com/l/_DVpltK5kSkS7


Answer: C

Watch Video Solution

217. In the reaction of  and  the later acts as:

A. Oxidising agent

B. Reducing agent

C. Bleaching agent

D. Both oxidising and bleaching agent

Answer: A

Watch Video Solution

O3 H2O2

218. Fluorine exhibits only  oxidation state, while iodine exhibits

oxidation states of -1,+1,+3,+5 and+7. This is due to :

−1

https://dl.doubtnut.com/l/_DVpltK5kSkS7
https://dl.doubtnut.com/l/_n8kuHCNFLhQd
https://dl.doubtnut.com/l/_8RoABC4q9kWj


A. Fluorine being a gas

B. Available d-orbitals in iodine

C. Non-availability of d-orbitals in iodine

D. None of the above

Answer: B

Watch Video Solution

219. The characteristic oxidation number of metals in free state is:

A. Zero

B. One

C. 

D. Any number

Answer: A

Watch Video Solution

−1

https://dl.doubtnut.com/l/_8RoABC4q9kWj
https://dl.doubtnut.com/l/_nYwlg16gjGUn


220. Magnesium reacts with acids producing hydrogen and

corresponding magnesium salts. In such reactions magnesium undergoes

:

A. Oxidation

B. Reduction

C. Nither oxidation nor reduction

D. Simple dessoution

Answer: A

Watch Video Solution

221. The strongest reducing agent among the following is :

A. 

B. 

HNO2

H2S

https://dl.doubtnut.com/l/_nYwlg16gjGUn
https://dl.doubtnut.com/l/_g2Dk33I270IT
https://dl.doubtnut.com/l/_1iSgKL4K02WL


C. 

D. 

Answer: A

Watch Video Solution

H2SO3

SnCI2

222. Strongest reducing agent among the following is:

A. K

B. Mg

C. Al

D. Ba

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1iSgKL4K02WL
https://dl.doubtnut.com/l/_j6I8VxLNuSTg


223. The oxidation state of iron in sodium nitroprusside is :

A. 

B. 

C. Zero

D. 

Answer: A

Watch Video Solution

+2

+1

+3

224. The oxidation number of arsenic in arsenate is:

A. 

B. 

C. 

D. 

+5

+4

+6

+2

https://dl.doubtnut.com/l/_Rowg7wiTHCuP
https://dl.doubtnut.com/l/_ttVMfTL19N2z


Answer: A

Watch Video Solution

225. Oxidation number of Mn in  and  are respectively :

A.  and 

B.  and 

C.  and

D. and

Answer: B

Watch Video Solution

K2MnO4 MnSO4

+7 +2

+6 +2

+5 +2

+2 +6

226. Oxidation number of chlorine in chlorine heptaoxide is :

A. +1

https://dl.doubtnut.com/l/_ttVMfTL19N2z
https://dl.doubtnut.com/l/_se3IyibC9WbS
https://dl.doubtnut.com/l/_DcvvdJcvkZDk


B. 

C. 

D. 

Answer: D

Watch Video Solution

+4

+6

+7

227. The oxidation state of I in  is:

A. `+7

B. 

C. 

D. 

Answer: A

Watch Video Solution

H4IO
−
6

−1

+5

+1

https://dl.doubtnut.com/l/_DcvvdJcvkZDk
https://dl.doubtnut.com/l/_RVnVKCIju39L
https://dl.doubtnut.com/l/_jn9jhqtX0w8Q


228. The oxidation number of N in  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2H
+

5

−2

+3

+2

−3

229. In which compound does oxygen has an oxidation state of  :

A. 

B. 

C. 

D. CO

+2

H2O2

H2O

OF2

https://dl.doubtnut.com/l/_jn9jhqtX0w8Q
https://dl.doubtnut.com/l/_2tSku2wR2I41


Answer: C

Watch Video Solution

230. The oxidation state of hydrogen in  is :

A. 

B. 

C. Zero

D. 

Answer: B

Watch Video Solution

CaH2

+1

−1

+2

231. Sulphur has the highest oxidation state in :

A. SO2

https://dl.doubtnut.com/l/_2tSku2wR2I41
https://dl.doubtnut.com/l/_AoLK5mmEE2EL
https://dl.doubtnut.com/l/_slNB0tQWUQJW


B. 

C. 

D. 

Answer: B

Watch Video Solution

Na2S2O3

H2SO4

H2S

232. In the conversion of  to ,the oxidation state of bromine

changes from :

A.  to 

B.  to 

C.  to 

D.  to 

Answer: A

Watch Video Solution

Br2 BrO−
3

0 +5

−1 5

0 −3

+2 +5

https://dl.doubtnut.com/l/_slNB0tQWUQJW
https://dl.doubtnut.com/l/_C4kH4xmJ9078


233. In the reduction of dichromate by FE(II), THE number of electrons

involved per chromium atom is:

A. 3

B. 1

C. 2

D. 4

Answer: A

Watch Video Solution

234. For reducing one mole of` MnO4- ion to Mn2+ ions, the number of

Farady of electricity is :

A. 5

B. 1

https://dl.doubtnut.com/l/_C4kH4xmJ9078
https://dl.doubtnut.com/l/_Nj5aZriHal3b
https://dl.doubtnut.com/l/_03qXg6Wbtaa3


C. 1.5

D. 4

Answer: A

Watch Video Solution

235. The violent reaction between sodium and water is an example of :

A. Reduction

B. Oxidation

C. Rodox reaction

D. Neutralisation reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_03qXg6Wbtaa3
https://dl.doubtnut.com/l/_1K5WbK7gGjFn


236. The compound that can work both as an oxidizing and reducing

agent is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4

H2O2

Fe2(SO4)3

K2Cr2O7

237. Which of the following is redox reaction ?

A. Intermolecular redox

B. Intramolecular redox

C. Auto redox

D. All of the above

https://dl.doubtnut.com/l/_Eil06nOWitaa
https://dl.doubtnut.com/l/_zlZ918weKvkl


Answer: D

Watch Video Solution

238. Which of the following change represents is desproportination

reaction(s) ?

A. 

B. 

C. 

D. All of the above

Answer: D

Watch Video Solution

CI2 + 2OH − → CIO− + CI − + H2O

Cu2O + 2H + → Cu + Cu2 + + H2O

2HCuCI2

dilutionwithwater
−−−−−−−−−−→ Cu + Cu2 + 4Cl− + 2H +

239. When Fe metal is rusted then Fe is:

https://dl.doubtnut.com/l/_zlZ918weKvkl
https://dl.doubtnut.com/l/_S0doS8jQgzk7
https://dl.doubtnut.com/l/_eCONZZX6eQir


A. Oxidised

B. Reduced

C. Hydrolysed

D. Precipitated

Answer: A

Watch Video Solution

240. When  is passed through acidified solution of potassium

dichromate, than chromium sulphate is formed . The change in oxidation

number of chromium is :

A.  to 

B.  to

C.  to

D.  to

SO2

+4 +2

+5 +3

+6 +3

+7 +2

https://dl.doubtnut.com/l/_eCONZZX6eQir
https://dl.doubtnut.com/l/_aeFJMxEnw5DU


Answer: C

Watch Video Solution

241. The oxidation number of Fe in  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K4[Fe(CN)6]

+2

+3

+4

+6

242.  contains carbon in the oxidation state :

A. 

HCO−
3

+5

https://dl.doubtnut.com/l/_aeFJMxEnw5DU
https://dl.doubtnut.com/l/_bJRSjAKml9or
https://dl.doubtnut.com/l/_KshM5jox1aFG


B. 

C. 

D. 

Answer: C

Watch Video Solution

+1

+4

+6

243. In nitric oxide (NO) the oxidation state of nitrogen is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−2

+1

−1

+2

https://dl.doubtnut.com/l/_KshM5jox1aFG
https://dl.doubtnut.com/l/_9q8HnOrLPT4l
https://dl.doubtnut.com/l/_1pbFr234e8uQ


244. In which of the following N has lowest oxidation number ?

A. NO

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO2

N2O

N2O5

245. Oxidation number of S in  :

A. 

B. 

C. 4

D. Zero

S2O
2 −
3

+2

−2

https://dl.doubtnut.com/l/_1pbFr234e8uQ
https://dl.doubtnut.com/l/_SrwZFMkiEKZz


Answer: A

Watch Video Solution

246. Oxdation number of Fe in  is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K3[Fe(CN)6]

+2

+3

+4

+1

247. The oxidation number of P in  is:

A. 

KH2PO2

+1

https://dl.doubtnut.com/l/_SrwZFMkiEKZz
https://dl.doubtnut.com/l/_cXwijVjtTDfP
https://dl.doubtnut.com/l/_kSsGknWpqoV1


B. 

C. 

D. `+5

Answer: A

Watch Video Solution

+3

−3

248. The oxidation state of Fe in iron penta carbonyl is:

A. Zero

B. 1

C. 2

D. 2.5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_kSsGknWpqoV1
https://dl.doubtnut.com/l/_5CJB6qrz4pGp
https://dl.doubtnut.com/l/_kKhv8qgmPj8p


249. The oxidation state of nitrogen in  is:

A.  and 

B.  and 

C. 

D. 

Answer: A

Watch Video Solution

NH4NO3

−3 +5

+3 +5

+5

+3

250. Oxidantion number of As atom in  is :

A. 

B. 

C. 

D. 

H3AsO4

+5

+6

+4

−3

https://dl.doubtnut.com/l/_kKhv8qgmPj8p
https://dl.doubtnut.com/l/_ceQa3Vru97He


Answer: A

Watch Video Solution

251. Nitrogen has fractional oxidation number in :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2H4

NH4

HN3

N2F2

252. Iodine oxidises ion to:

A. 

S2O
2 −
3

SO−
3

https://dl.doubtnut.com/l/_ceQa3Vru97He
https://dl.doubtnut.com/l/_cXg9XBGqGZAE
https://dl.doubtnut.com/l/_RV6JV01IvgGg


B. 

C. 

D. 

Answer: C

Watch Video Solution

SO
2 −
4

S4O
2 −
6

S2O
2 −
8

253. Which change requires a reducing agent :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CrO
2 −
4 → Cr2O

2 −
7

BrO− →
3 BrO−

H2O2 → O2

AI(OH)3 → AI(OH)
−
4

https://dl.doubtnut.com/l/_RV6JV01IvgGg
https://dl.doubtnut.com/l/_qtdb4YqXIJte
https://dl.doubtnut.com/l/_XzhhE2CQBThP


254. A sulphur containing species that connot be an oxidising agent is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO4

H2S

SO2

H2SO3

255. Which can act only as oxidising agent ?

A. 

B. 

C. 

D. 

O3

O2

CI2

F2

https://dl.doubtnut.com/l/_XzhhE2CQBThP
https://dl.doubtnut.com/l/_6GHIX6hflOrl


Answer: D

Watch Video Solution

256. In which case +3` :

A. Ga

B. AI

C. TI

D. B

Answer: C

Watch Video Solution

+1 ⊗ idationstateisstab ≤ than

257. Stannous chloride gives a white precipitate with a solution of

mercuric chloride. In this process nercuric chloride is:

https://dl.doubtnut.com/l/_6GHIX6hflOrl
https://dl.doubtnut.com/l/_VDo5uPgj7SFm
https://dl.doubtnut.com/l/_3vPuNR4UqNEI


A. Oxidised

B. Reduced

C. Converted into a complex compound containing Sn and Hg

D. Converted into a chloro complex of Hg

Answer: B

Watch Video Solution

258. In the reaction, 

,the substance undergoing

oxidation is :

A. 

B. 

C. 

D. None of these

H2O2 + Na2CO3 → Na2O2 + CO2 + H2O

H2O2

Na2CO3

Na2O2

https://dl.doubtnut.com/l/_3vPuNR4UqNEI
https://dl.doubtnut.com/l/_3K0l38gxF3jV


Answer: D

Watch Video Solution

259. The process involving transfer of five electrons is:

A. `CrO_4^(2-) rarrCr^(3+)

B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO
− →
4 Mn2 +

MnO
− →
4 MnO2

Cr2O
2 −
7 → 2Cr3 +

260. Oxidation state of oxygen in  IS

A. 

H2O2

−2

https://dl.doubtnut.com/l/_3K0l38gxF3jV
https://dl.doubtnut.com/l/_odFZDJuiq53e
https://dl.doubtnut.com/l/_jF5NEA1CVceq


B. 

C. 

D. 

Answer: C

Watch Video Solution

−1

+1

+2

261. The oxidation number of phosphorus in  is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mg2P2O7

+5

−5

+6

−7

https://dl.doubtnut.com/l/_jF5NEA1CVceq
https://dl.doubtnut.com/l/_aTRiC17OXO7K
https://dl.doubtnut.com/l/_65cZpV6Tmk40


262. In , the oxidation number of C is :

A. 

B. 

C. Zero

D. 

Answer: C

Watch Video Solution

CH2CI2

−4

+2

+4

263. Which compound has oxidation number of carbon equal to zero ?

A. 

B. 

C. 

D. 

C6H6

CH3

C2H4

C6H12O6

https://dl.doubtnut.com/l/_65cZpV6Tmk40
https://dl.doubtnut.com/l/_Bkz64pkplh8S


Answer: D

Watch Video Solution

264. Oxidation state of  for phosphorus is found in:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+1

H3PO3

H3PO4

H3PO2

H4P2O7

265. Chlorine has  oxidation state in :

A. HCI

+1

https://dl.doubtnut.com/l/_Bkz64pkplh8S
https://dl.doubtnut.com/l/_xwetfHmZzDCX
https://dl.doubtnut.com/l/_QrPTYlD2z861


B. 

C. 

D. 

Answer: C

Watch Video Solution

HCIO3

CI2O

ICI3

266. Iodine has  oxidation state in :

A. 

B. 

C. 

D. All

Answer: D

Watch Video Solution

+7

HIO4

H3IO5

H5IO6

https://dl.doubtnut.com/l/_QrPTYlD2z861
https://dl.doubtnut.com/l/_A3NC2qaAinxc
https://dl.doubtnut.com/l/_zKBkEpdmW9Gr


267. If three election are lost by a metal ion ,its final oxidation

number will be :

A. Zero

B. 

C. 

D. 

Answer: B

Watch Video Solution

M 3 +

+6

+2

+4

268. Ox idation number of N in is:

A. 

B. 

C. Zero

D. 

N3H

−3

+3

−1/3

https://dl.doubtnut.com/l/_zKBkEpdmW9Gr
https://dl.doubtnut.com/l/_uqt4btbPyiF5


Answer: D

Watch Video Solution

269. The oxidation number of N in  is:

A. 

B. 

C. Zero

D. 5

Answer: A

Watch Video Solution

NH3

−3

+3

270. Oxidation number of S  is:

A. 

S2CI2

+1

https://dl.doubtnut.com/l/_uqt4btbPyiF5
https://dl.doubtnut.com/l/_gruLHROP11FP
https://dl.doubtnut.com/l/_HSsYirhfBnOu


B. 

C. Zero

D. 

Answer: A

Watch Video Solution

+6

−1

271. Oxidation state of chlorine is highest the compound :

A. 

B. HCI

C. 

D. 

Answer: D

Watch Video Solution

CI2

CI2O

CI2O7

https://dl.doubtnut.com/l/_HSsYirhfBnOu
https://dl.doubtnut.com/l/_901BM8AYXBOG
https://dl.doubtnut.com/l/_CN4OesQKD6NW


272. Which compound shows highest oxidation number of chlorine ?

A. HCI

B. 

C. 

D. 

Answer: D

Watch Video Solution

KCIO

KCIO3

KCIO4

273. The oxidation state of Fe in  is:

A. 

B. 

C. 

D. 

Fe3O4

+3

+6

+8/3

+2

https://dl.doubtnut.com/l/_CN4OesQKD6NW
https://dl.doubtnut.com/l/_67eXnzUF02vt


Answer: C

Watch Video Solution

274. What is the oxidation number of nitogen in nitrous oxide.

Watch Video Solution

275. What is the oxidation number of Mn in  ?

Watch Video Solution

K2MnO4

https://dl.doubtnut.com/l/_67eXnzUF02vt
https://dl.doubtnut.com/l/_1EpPCIRsRdOe
https://dl.doubtnut.com/l/_oeciKqyc1PZG

